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Example 1: Write the equation of a circle with the given information. |
a) Center (0.0), Radius=10 b) Center (2, 3), Diameter=12

= O <= 0 =10 h= L. k=2 r=
X4\ 2= 100 (223" (g -BY =

Example 2: Determine the center and radius of a circle the given equation.

=" b) (x+3)°+(y-5)" =81 o) (x+4)* +(y+6)° =1
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Example 3: Use fhe center and the radius to graph each circle. | A
Q) (x+2)°+y =64 . P) x*+(y+4)" = SRS L

ad

Center: (-2, ¢3) Center: (5, ') ~FoEe

Radius:

Radius: % ¥,
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Example 4: Write the equation of a circle with @ C }"""
(2, 5) that passes through the point (5 ~=1”). e

|
(x=2)*+ (y-3)'= 1
X—2) ¢ (j-— > ) = f
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Group x's and group y's togefher.

Step 2: I Move any constants to the right side of the equation.

Step 3: Use complete the square to make a perfect square trinomial for the X’s and then again for the y's.
e *Remember, whatever you do to one side of the equation, you must do fo the ofher!

Step 4: Simplify factors info standard form of a circle!

Example 5;: Write the equation of a circle in standard form. Then, state the center and the radius.

Q) X2+y2+4x-8y+ 16=0 . b)) X¥+y2+6x-4y=0
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5 ceniter = (-3,2)
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o) x2+y2-6x-2y+4=0
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d) x2+y2+8x-10y-4=0
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